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THESE SHOW A LACK OF UNDERSTANDING OF IMPORTANT FUNDAMENTALS
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COMMENTS ABOUT COMMON PROBLEMS

Most students who took the derivative of )4()( 3

2

 xxxf  using the product rule got it wrong, or could not solve 
0)(  xf  because their derivative was so complicated.

Whereas, most students who rewrote the function as 3
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4)( xxxf   before taking the derivative and factoring, were 
able to solve 0)(  xf  easily.

Many students did not know that 82)16(16 3344
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If x  is the length of the base of a box, then  x0 . If you have 900  square inches of material, you can make a
square base that is 900  inches  900  inches.
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